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NEW SYLLABUS
Group-A
ent-s
1. Answer any one question from the following within 1000 words: 12x1 =12

RS @-GF 9F 16 2089 T WIS Y000 *Hd NH$

(a) Analyse the changing nature of rural social structure in India.

wiaced i e S AfRafee eFfe R st

(b) Discuss the nature of Indian social diversity.

SIS FHICE (AL 2FTS AAGA! |

Write short notes on any #we of the following within 400 words each: 5%2=10

frrsfeiare - 7foq o afelb 8oo itarm sty sk fErg Bt e

(a) Village and outside world

iy ¢ Iy

(b) Protective discrimination

T (ST

(c) Industrial class structure

g e I st

(d) Features of caste system.

Gle JIEE QMHE |
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Group-B
fasta-2

3. Answer any one question from the following within 1000 words: 12x1 =12
fraferfis Q-G «lb 2ltss Tee Sooo X3 W) WSS
(a) Write a note on universalization of elementary education.
e Fr Reeaaie! e @ B e
(b) Analyze secularism in the context of Indian society.

OO FANEE (&6 i For Rosme @t

4. Write short notes on any fwo of the following within 400 words each: 52 =10
fasferis -t 767 Tom afefd soo xitwa Nk e Bl cefras
(a) Decentralization of power
wAo [Rediead
(b) Municipality
RS
(c) National Integration

wre R 7afe

(d) Distant education.

EciRical

Group-C
fretat-at

5. Answer any one question from the following within 1000 words: 12x1 =12
frefefs @-@iel @36 e Ted Sooo =3 X Tes
(a) Discuss the features of tribal society in India.
1o TeiEfe e (2 e Sensal S
(b) Critically evaluate the child development programmes in India.

wAred e Fhhlefm e st

6. Write short notes on any two of the following within 400 words each: x2-=10
s @-e 767 Tom afeld soo *itwr ey ke DI eedle
(a) Tribal Identity
Toife wfibfe
(b) Gender role
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(c) Child rights
e wifdara
(d) Problems of tribal communities.

TAGIS TR A IR

. Answer any one question from the following within 1000 words:
eI @-(HICAl @16 @t T Y000 =W WY es
(a) Discuss the changing composition and distribution of population in India.
SRS TR AT A 91071 @ 35+ fIa Scav=l e
(b) Write a note on backward caste movement in India.

CIATSA BV TS TWIeT [F 9F0 OIt @l

8. Write short notes on any fwe of the following within 400 words each:
fasfeiide @-wiel 7foq Som eifofb 8oo *Itwra ey ke Biw eirais
(a) Consequence of population growth
G AT g e
(b) Fertility and culture
Tl @R WFo
(c) Infant Mortality Rate
[RER SRR

(d) International Women’s Day.

ST ([oF a1 w37 |

Group-E
fotl-6

9. Write very short notes on any six of the following within 100 words each:
=S @-Fieat RFfo7 Tk &lfofb Soo *itwa sty oIS ik fFpe it ereale
(a) What is meant by urbanization?
TS TS S AN 2
(b) Define caste.
GICod e niS |
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(c) Define family.
AR TS w18 |
(d) What do you mean by regionalism?
SIFEFOIT 10O < (@ICaN 2
(e) Domestic violence
oiTg% e
(f) Gender inequality
et (s
(g) Mortality
19 2+
(h) Mass media
NN
(1) Civil society
CIRIGE ]
(j) Consumer culture.

(FO TRF |

OLD SYLLABUS

Group-A
Toa-s

Answer Question No. 1 and any fwe from the rest
S R &P IR O (F-(HICA! 715 AHE Tgd e

1. Write short notes on any four of the following: 5x4 =20

SIS Q- Brafbe Toia sk e B e

(a) Multi National Corporation
e

(b) Paid and unpaid work
“fifefEiez Fie e Rerifficss se

(c) Seasonal unemployment
WG S (Y

(d) Political Power

ArenAfos FIe!
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The figures in the margin indicate full marks. eifese FNF 7= T YIG 207 7 T
Candidates should answer in their own words AT [ATET SR I G TN T
and adhere to the word limit as practicable. Fe7 FRE1

NEW SYLLABUS

Group-A
fet-%

1. Answer any one question from the following within 1000 words:
e @-@il 9 2tim Tex Sooo *wE Ty wies
(a) Describe the context of sociological theory.
Terelf§e ©rgd @ifFe a9 Tl

(b) Discuss positivism as a philosophy of social science.

TIGRGICR w4 RETR 13AW 520 SAG I |

2 Answer any two questions from the following within 400 words each:

fersferfare -l 716 elvds Teq &lfsfb 8oo it ity whes
(a) Discuss the meaning of theory.
SUEE S DA T
(b) What is micro sociological theory?
S-S Es ©F F 9
(c) Can sociological theory be value free?
Telfgs ©g F YN FHerF 200 #(icd 2
(d) What is meant by macro-sociological theory?
HRE-Tmesiies oy w@ie F @RIT ¢
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Group-B
faeta-2

3. Answer any one question from the following within 1000 words: 12x1=12
fasfeife -t @ fo &t Ted sooo *tw ey whes

(a) Write a note on Merton’s ‘middle range theory’.
GCT SIS OrgR T (b BIt e
(b) Trace the importance of culture in Malinowski’s sociology.

pifecaifEa wrererg wgfon ey bize s

- Answer any two questions from the following within 400 words each: 5%2=10
e Q- 46 aes Tes afefb soo *Itwa it wiee
(a) How does Parsons conceptualise the social system?
AR SIS ANCHIZNF YRS S0 2
(b) Point out Merton’s attempt at the reformulation of functional analysis.
@R fResaeerR #jeisfor Qb= 23 Srad Fa@h
(c) Write a short note on any two of the pattern variables following Parsons.

ARPTNA-G3 @ I 7o “i5H SRrerR Tk «afb kR Bl @l

(d) What is structural functionalism?

Pl fEFaam F
Group-C
et
5. Answer any one question from the following within 1000 words: 12x1=12

frafefie @-@IE 96 &0 T8 Sooo *(we 1) 7\as
(a) Discuss the basic propositions of conflict theory.

TSGR (NeRe eBRARTIZ SCEAG FCI |

(b) Explain Dahrendorf’s conflict theory.
TG T a9 11 Al

6. Answer any fwo questions from the following within 400 words each: 5%2=10
fersfeiire @-cieat 76 etz en afels soo =it ey wiss
(a) What is the influence of Marx on the development of conflict theory?
TaoCed It M ol F 9
(b) What is Coser’s conflict functionalism?

@R gie (&Eaam S o

(3]
2
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(¢)

(d)

(a)

(b)

(a)

(b)

@)

(d)

(a)

(b)
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What are the causes of conflict according to Coser?
(A WS BCad FIRPTIZ L 9

What is the role of charismatic personality in social change according to

Weber?
STIAICEE WS FAGARRST SeiZa Jierea S S 9

Answer any one question from the following within 1000 words:
fseie -l 9o &0 Ted Yooo *(Hd T4y wies

Discuss the basic propositions of neo-functionalism.
3y-fFARICTE (T LABIATRTIR S FCE1

Why do the postmodernists criticize the modernists? Discuss.

Taq igfRroEl S RFORIAR @ AN FCE ¢ — SCEAG] Sl |

Answer any fwe questions from the following within 400 words each:
fAsfEie - 7fo eivss Teg &feft soo *itwa T4 wies

Write a short note on ethnomethodology.

“QUTAIIACTIE T Tofd Gib HefRre Bisel e

What does Mead mean by ‘self’?

S F@ice fire 1 e

What is “symbolic interactionism’?

eifod! ffEramm # 2

How does Goffman distinguish between the front stage and the back stage?
ST PO T Nep 8 GIQ TR 214 FCECRA 9

Group-E
freia-e

Answer any six questions from the following within 100 words each:
faaferiie @- 576 2rea Oea &l soo =it Wy whes

What is meant by “concept’?

‘G 0 F (@RI 9

What is ‘paradigm’?

PRGN F 9

12x1=12

5x2=10

2x6=12
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(¢) What do you mean by AGIL?
‘g & 3 us’ 0SB @GN 9

(d) What is deductive reasoning?
"THCAIR] YE FICE A0 2

(e) What does Giddens mean by structuration?
FIOCARFRE! T I0es S JRICACRA 9

(f) What is manifest function?
26 Fa Sl 9

(g) What is the relation between theory and research?
©F € SR N T B 9

(h) What do you mean by interpretative sociology?
TG BT TACTOG &S 1 Q@I 9

(i) What is mean by historical materialism?
@S2I IGAM IS F Q@RI 2

(j) What does Coser mean by ‘safety-valve’?

‘Crelb-Sie 9610 (@ ) IR 2
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